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On A Chromosome Representation of

Finite Automaton and Its Application

Seiichi FUJINO and Masakazu YAKURA

Abstract
In this paper we shall define a chromosome representation of finite automaton and study its application.
It will be easy to construct a program in which strings, randomly selected, can be recognized by making use

of the representation. By using such a programming technique we can estimate the degree of approximation

of a finite automaton with respect to a given finite automaton.
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F—5 HEIMEFuSIA (1) F—7 ZH, FTEHEOREE (2)
#include <SCL.h> a={421122322123}
#include <stdio.h> 11 -
#include <stdlib.h> 100 P
10001001000101001010. -
main() 101010101001000001011110000. P
00001110. sl
int a[12]= {4.2,1 1,2,2,3,2,2,1,2,3},s,du3, n=2; 100111100000. R
int wi30][30 T i ————
i tT'":o"l'IOC'“ 00... ...-
ar ex n H
R ATERA PRt L n o 101001100111101001,..  ...-
printf("a={"); 1001110011... S
for(i=0;i<12;i++) 10000111111110. -
printfC"%d",alil); 0000100000111011011. -

printf("}\n");
for(i=0;i<30;i++)
{

5=0;
srand(T1ckCount())
I-Cdouble)rand()/32767'29+1
for(j=0;j<1;3i++)
wli][il=Cint)rand()/16390;
for(j=0;j<l;j++)
{

x=w[i][j];

t=n*s+x+3;

s=a[t];

for(j=0;j<l;j++)
printf("%d",wlil[i]);

if(s==d)
printf("... AU H
C+4;

else
printf("... e e T

}
printf("\nc=%d",c);
EndTextPrinting();
Stop();
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100000111111111100110001... A
110111100100000110. =
0110110111100011011000101 see=
11110, .

1111011. .
0110111100011010110011111 . ceem
0111110101001100001. -

110111001000101001001000101 e

0010010... ves
0011010001000001010111000 e
100111. .
00000101100000101101110 .
00111000100110011<.. e
100001111, e

0010100101101 cee
000101101001001111 e
001001101.

101101101010010110101111101 . e

010100110...

01001100010101061001000111 -

0110001110100011111110. e

c=1

11101000111110011000011101

111111101010000101110. saem

11111001001010001001000000011
01101100010010001011001000.

010010100001010111011... -

11100011111110... e
11101... veam=
1001110... ..
000000011110000101001100
10100. B
1000011001101100101010
1.

10111100001101011.-. e
00100010. e
10101110011 o=
10111101101110010 cam

00000001011001101000000
c=0
%8
#include <SCL.h>
#include <stdio.h>
#include <stdlib.h>

main()

int a[12]={4, Z 1,1,2,0,3,3,0,2,1,3},s,d=3,n=2;

int w[30][3

int i,3,t,x, 1 ,C=0;

Start?extunly();

BeginTextPrinting();

printf("a={");

for(i=0;1i<12;{++)

printf("%d",a[i]);
printf("}\n");

for(i=0;1<30;i+4+)
{

s=0;

srand(TickCount());
1=Cdouble)rand()/32767*29+1;
for(j=0;j<1;j++)
wlil[i]=Cint)rand()/16390;
for(j=0;3j<l;j++)

{

x=w[1][j];
t=n*s+x+3;
s=a[t];

for(j=0;j<l;j++)
printf("%d",wlil[i1);

if(s==d)
printf("... +\n");
C++;

else
printf("... o=\t

}
printf("\nc=%d",c);
EndTextPrinting();
Stop();
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#—11 A— b= b OZHEES O R

a0=221<1111>1...
al=621<500015350510>2...
a2=421<33103122>0...
a3=121<00>0...
a4=621<013544515453>3...
a5=321<011112>0...
a6=521<0440303103>2...
a7=621<015513144230>4...
aB=821<1250120652000143>0...
a9=521<1400340334>4...
al0=721<21002240140066>1...
all=521<1420443311>0...
al2=621<213022114000>1...
al3=321<100222>0...
al4=521<2322302420>1...
al5=621<303123510554>3...
al6=421<23002331>1...
al7=921<634276174554146648>0...
al8=721<54356432024644>6...

al9=521<4202041133>3... c[0]= 0...c[0]/30=0.000000
a20=221<1100>1... e[1]= 0...c[1]/30=0.000000
a21=721<65642365502235>1.. . c(2]= 0...c[2]/30=0.000000
a22=521<4104400243>0. .. c[3]= 0...c(3]/30=0.000000
a23=621<541433352212>1... c[4]= 0.. 4 =
.c[41/30=0.000000
a24=421<01230022>0... c[5]= 0...c[5]/30=0.000000
a25=521<0441114123>1... siho= b SiElssown snngog
a26=721<16531043334126>4. .. i S5 [6] :
= [7]= 30...c[7]/30=1.000000
a27=921<161050537523675176>8. .. 8
a28=321<012102>1... c[8)= 0...c[B]/30=0.000000
a29=421<10001020>2. .. c[9]= 0...c[9]/30=0.000000
0 cgig}= 30---?5%?}530;16000000
10101110100101110 c = 0...c =0.000000
i c[12]= 30...c[12]/30=1.000000
221011100111110111111 c{if}‘ 3°"'?§}?}gg°;1aggg°°°
01000111101111010100 c =0...0 =0. 00
111001110000000010011001100001 g}ig}= g---C{ig};;g=g-gggggg
111010001111101 = 0...cC =0,
111101111000010111001101 e(17]= 0...c[17]/30=0.000000
c(18]= 0...c[18]/30=0.000000

0100010110001011000110

0000010011101000110 c[19]= 30...c[19]/30=1.000000
101000010010001011101100011111 ¢[(20]= 0...c[20]/30=0.000000
0 c[21])= 0...c[21]/30=0.000000
001111 c[22)= 0...c[22]/30=0.000000

3
0
0
0
00100000000110110011011010 c[23)= g---0[23}/30=0.000000
0
0
0
0

0100101111000000101000000 c[24]= 0...c[24]1/30=0.000000
11101011 c[25]= 0...c[25]/30=0.000000
110011010010101100010110101111 c[26]= ..c[26]/30=0.000000
010101101001001 c[(27]= 0...c[27]1/30=0.000000

c(28]= 0...c[28]/30=0.000000

110010111100110101001001
0010011111101001101011
1011

100100110

000011110010100
1011001101110100111100110
110001011110111101011111
1110001111011011011110
0111011010111000011
111100010100111101110100010000
011101001010001
101000011010111100101011

c[29]= 0...c[29]/30=0.000000
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#—12 A— b= b rOEMEHETOSF A

#include <SCL.h>
#include <stdio.h>
#include <stdlib.h>

main()

int ta[8]={2,2,1,0,1,0,1,1}, tc;
int a[5][22],wl[30],wp[30];
int m[5],n[5],p[5],s;
int w[30][30];
int i,j,k,t,x,1,L(5];
double tp,tm,c[5],d(5],est[5];
StartTextOnly();
BeginTextPrinting();
for(k=0;k<5;k++)
{

srand(TickCount());
m[k]=Cdouble)rand()/32767*9+1;
n[k]=2;
p[k]=(double)rand()/32767*m[k];
L[k]=m[k]*n[k]+4;

a[k][@]=m[k];

alk][1]=nlk];

alk][2]=1;
for(j=3;j<=(LLk]-2);j++)

alk][jl=Cdouble)rand()/32767*m[k];

alk][LL[k]-1]=p[k];

printf("a%d=",k);
for(j=0;j<=2;j++)
printf("%d",alk]I[il);
printf("<");
for(j=3;j<=L[k]-2;j++)
printf("%d",alk1[i1);
printf(">%d\n",a[k][L[k]-11);

for(i=0;1<30;i++)

srand(TickCount());
1=(double)rand()/32767*30+1;
wli[i]=1;

for(j=0;j<l;j++)
wli][j]=Cintdrand()/16390;

#£—12 (0T&)

}

tp=tc;

tm=30-tp;
printf("tp=%d\n",tc);

for(k=0;k<5;k++)
{ c[k]=0;
d[k]=0;
for(i=0;1<30;1++)
{
s5=0;
for(j=0;j<wl[i];j++)

x=w[i][3il;
t=n[k]*s+x+3;
s=a(k][t];
}
if(wp[i]==18& s==p[k])
c[k]++;
else
{F(wp[i]==08&&s!=p[k])
d[k]++;
}
if(tp==0)
est[k]=d[k]/tm*1000;

else
{ if(tm==0)

est[k]=c[k]l/tp*1000;

else

est[k]=Cc[k]/tp)*(d[k]/tm)*1000;

}

printf(" est[¥d]= %1f\n",k,est[k]);

for(j=0;j<l;j++) }
EndTextPrinting();
printf("%d",wlil[il); Stop();
printf("\n"); 3
tc=0;
For(im0;i<30;1i++) F-1231o04—b~ ¥ Alg(A)=2,2,1,0,1,0,
{

$=0; LDicHLT5EOA— b~ b v 2EERICIEDI0ME
?Kﬁ%imwﬂuhﬂ OB LT, FEZHOWEELTAIHTS

x=w[i1[3]; EPESEHAT 270 75 THS,
b %13, UNZOHETH2,
{mﬂn EEO LA (K8) HELERED 21 0B-EHT LV
TV ALZFALTRIFRERER, TORREIERIC
wp[i]=1; RS 2
tc+4+) = o

}
else
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#£—13 A — b2 b OIELEHEER (1)

a0=121<00>0

al=121<00>0
a2=621<113412501300>0
a3=821<2701527745514517>2
a4=121<00>0
001001111110101000101
10100100001000110010110011111
0100000111
1101000111111011100000000010
0100111000111011101110000
1101010100100001000
010111001001101101111110000
11111010

01100110000
110100111001100110010011110001
100011000011110100110011111
1010001010100010001100
000001010000111100110110010101
0010101100101011110100000011
000000011110111010011001
011100111010011000
11010011001011000101101100
11000001001101001010
1110100011010
111001110001000001
01000011100110100010001010
00010001100000101001
0001100001001
001111111011010001
0000110111

00100100010001

001001
101110010001101001000010

001

1001011101101101100

tp=16

est[0]= 0.000000

est[1]= 0.000000

est[2]= 446.428571

est[3]= 160.714286

est[4]= 0.000000
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a0=821<1420106160360112>6
al=921<244238142387525653>2
a2=721<23005055111156>1
a3=921<425420755173173872>4
a4=621<355353523433>2
01100011000
110110101000011101101000000001
01111100110
1111101110100100
01100111
11101011101
110000001011011
010000111000010001010
000101101000111
00010110000111001011
0011111111110
000110000010001001
0011101010
10000010001110
00001
0010101
10001111110
10110101011010001
11001010
11000110011
1
0110000100110000
01011101011101011110001
0100000011111110
11011100011010110111101
11011010110100101
111100001000110000101000
0010
00011000001001100000
1011000111001
tp=16
est[0]= 0.000000
est[1]= 40.178571
est[2]= 232.142857
est[{3]= 0.000000
est[4]= 375.000000
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